e-10032 1.10 Nonlinear Equations and Inequalities Supplemental Problems


Solve the following:
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9. |u| = 7

10. |a + 1| = 7

11. |2x + 1| = 7

12. |u| = - 1

13. |u| = - 2

14. |a – 3| = - 1

15. |u| = 8

16. |a – 3 | = 8

17. |2x – 3 | = 8

18. 2|u| = 18

19. 2|a + 1| = 18

20. 2|2x + 1| = 18

For # 21 – 30, express your answer as an inequality.
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31. What is the least integer value of n, such that 
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A) 4
B) 3
C) 2
D) 1
E) There is no such number.
32. If x > 1 which if the following is true? 
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           D) Can’t say from the information that has been provided.

33. If 
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, then
A) (6 – y)(y – 6) > 0
B) (6 – y)(y – 6) < 0
C) (6 – y)(y – 6) = 0
D) Can’t say from the information that has been provided.

34. If 
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35. If k is equal to 7 or – 1 , then which of the following is true?
A) 
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Answers: Sec 1.10 10032

1. x = 0.1  or  x = – 0.1

2.  x = 0.1  or  x = – 0.1

3. x = 2  or  x = –2

4. x = 2  or  x = –2

5. x = 2  or  x = –2

6. x = 2  or  x = –2

7. x = 1

8. x = 3

9. u = 7  or u = –7

10. a = 6  or  a = –8

11. x = 3  or  x = –4

12. No solution

13. No solution

14. No solution

15. u = 8  or u = –8

16. a = 11  or  a = –5

17.  x = 5.5 or x = –2.5

18. u = 9  or  u = –9

19. a = 8  or  a = –10

20. x = 4  or  x = –5

21. –12 < x < 12

22. –11 < x < 11

23. –0.1 < x < 0.1

24. –0.1 < x < 0.1

25. –0.1 < x < 0.1

26. –10 < x < 10

27. –6 < x < 6

28. –4 < x < 4

29. –5 < x < 5

30. x < –2 or x > 2

31. A

32. D

33. B

34. D

35. C
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